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A green light 1s incident from the water to the air - water
interface at the critical angle (0). Select the correct stateme

|JEE Main 2 l
(@) The entire spectrum of visible light will co L= O (‘Tu )
waterat an angle of 90° to the normal.
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Ans. b



The refractive index of a glass is 1.520 for red light and 1.525

for blue light. Let D, and D,, be angles of minimum deviati
for red and blue llght respectlvely in a prism of thlS
Then, E Ma In

1 2
(b) D =D,
(¢) D, canbelessthan or gr endlng up

the angle of prism

(d D,>D,



Ans. a



Q) The variation of refractive index of a crown glass thi
of the incident light is shown. Which of the followin
If D, Is the angle of minimum deviation?
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Ans. 1



PYQs on Following Subtopic;

Longitudinal Chromatic
Aberration




Q) When monochromatic red light is used inste light in a
convex lens, its focal length will :-
2011]

(1) Does not depend on colour ofJ\g/ﬁt ncreaseﬂ
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Ans. 2
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